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Cinema viewing figures for films by country, in millions

Action Romance Comedy Horror Totals
India 8 75 6.5 25 245
start of
Treland 7.6 EE:] 5.5 6.4 233 pulmonary
breathing
New Zealand 7.2 45 3.9 4.7 203
front legs.
Japan 7.1 4.5 4 2.2 17.8 (T break through, /
Total 29.9 203 19.9 158 ] /
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1- Agree and disagree

2- Give your opinion

3- Discuss

4- Advantages and disadvantages
5- Reasons and solutions

6- Problems and solutions

7- Causes and effects

8- Causes and effect with solution
9- Multi
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- Agree \ disagree
This essay partly agrees with above statement

- Discuss
This essay will discuss these two views

- Give your opinion
This essay will illustrate this issue .............. before
presenting my opinion

- Advantages and disadvantages
This essay will show one benefit and one drawback of this
issue
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This essay will discuss these two views in terms of .... And ...
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5 2 or instance
o in contrast likewise
3 To express resuk To express reasons  To express sequence
so because first
then since to start with
consequently due to then
U therefore that is why afterthis/
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= thus finally/lasty
za To clarifylexplain To conclude To add information
o= in other words in short and
= | that is to say briefly also
i.e. to sum up in addition
stk ‘ to putin to summarise besides
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